MATH 321 QUIZ 1 (TAKEHOME, DUE START OF CLASS MONDAY)

Copying answers and steps is strictly forbidden. Evidence of copying results in zero for copied and
copier. Working together is encouraged, share ideas not calculations. Explain your steps. The calcula-
tions and answers should be written neatly on one-side of paper which is attached and neatly stapled
in the upper left corner. Box your answers where appropriate. Please do not fold. Thanks!
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Problem 5 If possible, calculate e; [ f; 2]
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Problem 7 Let Q(z,y) = 2* + 22y — y%. Find A = A7 for which Q(v) = v Av where vT = [z, 9]
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Problem 8 Let A, B, C' be square matrices. Define [A4, B] = AB — BA. Show
[A+B,C] = [A, C|+[B, C).
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Problem 9 Let A be a nonzero square matrix such that A2 # 0 yet A% = 0. Is A invertible? Is [ + A
invertible?
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Problem 10 Suppose A is a symmetric matrix. Prove A™ is symmetric for all n € N.
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— Problem 11 Suppose there exist matrices X which are multipliable with A, B such that AX = BX.
Is it true, possible, or false that A = B ?
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Problem 12 Solve (freestyle, I judge your answer not your work here, but, keep in mind, this might be
a test question so wolfram alpha etc. is really not the style which helps you prepare)
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Problem 13 Suppose that the matrix below is the augmented coefficient matrix for a linear system of
equations Av = b where v = (z1, 29, 73, 74),
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Perform the following two tasks:

(i.) write the system of equations Av = b in "scalar” form.
X +¥%+2X; = 94
X, +2X +3% =1(7
X, =% = —

(ii.) give the general solution with pivot variables as the dependent variables.

fX 4 —Xg ~ x‘f ;A/X,XVC//?
X2 EXJ Xy

X =s ' ‘
Xq = 1%

(iii.) give the solution set parametrized by the non-pivot variables.
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Problem 14 Find the solution set of the system of equations below using row- reductlon posiibla.,

T+y+z=2, 2r4+2y+22=4, y—2=2

Use the non-pivot variables to parametrize the solution set.
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Problem 15 Is (1,2,0,0) € span{(1,0,2,2),(0,1,2,2), (1, 1,0,0)} ? Explain.
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Problem 16 Let § = {(1,0,2,2),(0,1,2,2),(1,1,0,0)}. Is § a LI set?
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Problem 18 Let k € R and define S = {(1,1,0),(0,1,1), (1, k,1)}. For which values of k is it true that
R? = span(S
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Problem 19 Consider S = {(1,2,3), (1,1,0),(1,1,1),(3,4,4)}. Find all LI subsets T C § such that
span(T’) = R3.

C+lz

b 3 gt )3 —— (i o oI [ | 0 0
(82| 2 1 1 g ==lo -l -[[-2] 5, |0 = -1-2|Z 010 -
2 0 4 ¢ ff_-?i,,o—x—z-s———aoofi oo | |

{_ O T | [ 6 o | | & 4
oo (re T Y ol 0 | [Oo.o (j l,-]
$ 0 4y 00

W e roed 3 vedvea to Spoen l\23 and No Moure av  une
1 now 41 —vechar - h=>3 £orm L;\M,w-i) Dbp%v/(ﬂr\.je ,(_,Uf‘
Sy A %w«]'\hvx s Ao seled LT 7"/-;3[00 brom S

(=t i, (000 ]
Vi
™= ‘{(’/z/ﬂ/“!l”j/ 4 ""{)/ ‘2# Ahe f"fr:JL [;]
LT'; { {l,)/O)/ (I’,//)) (?’ 7, ‘f/j Col ¢l love
| o o |
- o Y vuld &n
% Whet F reet (5] [ ¢ ."AJ/ o LT



Problem 20 Find th@)f all possibly degenerate cubic polynomials whose graphs contain the points
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Problem 22 Consider the the system of equations Av = 0 where

1 4 6
A=| -1 -3 -6
2 8 13

and v is notation for v = [z, y, z]T. Solve this system by explicit row reduction
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Problem 23 Is the matrix below invertible? If so. find the inverse
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Problem 24 Consider T'(z,y, z) = (z+ 4y + 62, —z — 3y — 62, 2z + 8y + 13z). Show that T is a linear
bijection on R3. Notice, the previous problem saves you calculation here.

T(X.VJJ= -X-3% =62 |=|-] -3-6 ||y L T i{» [thenr
Z)(-l-B'g +]3% 2 g 13 3 m“‘FPU\ Frimm ”-2 -—-:r//?
Mo e sver

by FTLA.
;T2



/J/ZUBLFM aq C"Aﬁ;\d\hj/ /V--)cc A = [7"] uJL\.O»—C e

proved AT exirtr in Beostem 22, Obgernce /L 6@/(’?
Mo T(A') = [TIA7h = A = Tb=b

T ir o .fu\r\‘)e_uh::r\_ puf/ﬂ*-vxmvrc/ f

T(x) =Tlv) = Ax=~ A-’Ax= A'IA? =D X S
Hhas T U an injechle mugping on (2.
Therehee, T is btk afcchve and sujedreon (7

7

h{nu T Ls o NN bf).tbhv;\ on ”2 )




- 1 01
Problem 25 A kind robot tells you that rref [ 2 20
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Answer the following questions: (you do not have to explain, just this once)

} . Define vectors as

follows:

(a) Is w € span({vy,v,, vs}) 7 If it is then provide the linear combination of the vectors
V1, Uz, U3 Which yields w.
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Problem 26 Define a function 7' : R® — R? by the formula below:

T(w,y,2) = (@ +2, 2+ 2y, 32 +1).
(a) find the standard matrix for 7
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Problem 27 Prove that (¢; + ¢;)v = ;0 + esv for all v € R® and e, €R. et 1410 ¢ n
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Problem 28 Let T'(z,y,2) = (z+y—z,y+z) and S(a,b) = (2a+b,a—b,3a+b). If possible, calculate
the standard matrix for ST and give the formula for S-7. If possible, calculate the
standard matrix for T'- S and give the formula for S-T.
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Problem 29 Find the set of all n x n matrices which commute with all n x n matrices. That is, find
all matrices X € R™ ™ such that AX = XA for all A € R**".
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Problem 30 Find all 2 x 2 matrices which commute with B = { i _11 }
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